ey st Ottt cipd 1 — 1

dgutoett Oif i o | bt Ol ylged!

n+3 5

n3_4é 223 dle gl @ﬁé‘é&.‘éM' ‘;é

b Jie yguss Ledda gl deldeg dlawey (5 9oes Cif 3pzalt
2
2 i+6 ﬂ
X ( a ( 8
x+6 2_3 n-4
a n+5

At pall Hewsst Jaunl | Taacuad) Oyt Sl | acwndt Oifylaatt (8 s PR PN |

Yol a5 nEm piiad) ol gt sl 45 Jolge o1 alially faued! So Ysn Jdoxsi

14 2.7 2
= = Al N
21 3.7 3
X2+2x—8 (x+H)x—-2) (x+4) ekl Olylalt
x2—-4  (x-2)(x+2) (x+2) il
3-3y 3(1—y) B -3(y—-1) i) it sl
3-1 (y-1DO*+y+1) (G-1DO*+y+1 <
y -DO*+y+1) (¥ _):gy y+1) (-1) glily Julons
T 0Z+y+D) i yrilea ol

b
rao Lgolie Jazed LM pdiall axd ic 4B yme pid Jrcuuid) Bylatl (9l

(x=3)(x+6)
—7x+12)(x2-36)

Nayae ik 3 Balualt Jam3 W X agd ¢ JLke

X2 -7x+12=(x-3)(x—4) ¢ Alael! (o
x2-36=(x—6)(x+6)

X=3,4,6,—6 (&80 gl aldall laxd M X 4

R&y

e



https://youtu.be/jytecahQx5s
https://youtu.be/jytecahQx5s

